

County Distribution Detail Report through 03/02/2016

Aurora

Adioia									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	1,274	1,825	286	3,385	\$4,231.25	\$86.58	\$4,144.67	0.70	\$2,901.27
							Entity Total	al:	\$2,901.27
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$2,901.27
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	5,016	9,870	32	14,918	\$18,647.50	\$388.88	\$18,258.62	0.70	\$12,781.03
							Entity Total	al:	\$12,781.03
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$12,781.03
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	976	1,030	2	2,008	\$2,510.00	\$57.57	\$2,452.43	0.70	\$1,716.70
							Entity Total	al:	\$1,716.70
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,716.70
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	2,377	3,596	10	5,983	\$7,478.75	\$149.66	\$7,329.09	0.70	\$5,130.36
							Entity Tota	al:	\$5,130.36
							Adjustme	nt:	\$0.00

\$5,130.36

Total Amount:

Brook	kings
-------	-------

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	10,618	19,257	79	29,954	\$37,442.50	\$760.43	\$36,682.07	0.70	\$25,677.45
							Entity Tot	al:	\$25,677.45
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$25,677.45
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	12,362	24,334	153	36,849	\$46,061.25	\$962.27	\$45,098.98	0.70	\$31,569.29
							Entity Tot	tal:	\$31,569.29
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$31,569.29
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	2,805	3,458	5	6,268	\$7,835.00	\$99.49	\$7,735.51	0.70	\$5,414.86
							Entity Tot	al:	\$5,414.86
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$5,414.86
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	615	373	1	989	\$1,236.25	\$10.64	\$1,225.61	0.70	\$857.93
							Entity Tot	al:	\$857.93
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$857.93
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	3,091	5,932	13	9,036	\$11,295.00	\$233.50	\$11,061.50	0.70	\$7,743.05
							Entity Tot	al:	\$7,743.05

djustment:	\$0.00
otal Amount:	\$7 7 <i>1</i> 3 05

Campbel

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	848	1,424	2	2,274	\$2,842.50	\$59.32	\$2,783.18	0.70	\$1,948.23
							Entity Total	l:	\$1,948.23
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$1,948.23
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

			Lines					Percent	
1/2016	3,286	4,912	8	8,206	\$10,257.50	\$174.37	\$10,083.13	0.70	\$7,058.19
							Entity Tota	:	\$7,058.19
							Adjustmen	t:	\$0.00

Total Amount: \$7,058.19

City of Box Elder, Meade Co

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	52	900	0	952	\$1,190.00	\$24.87	\$1,165.13	0.70	\$815.59
							Entity T	otal:	\$815.59

\$0.00 Adjustment:

Total Amount: \$815.59

City of North Sioux City, Uni

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	601	0	0	601	\$751.25	\$15.03	\$736.22	0.70	\$515.35
1/2016	1,511	2,023	64	3,598	\$4,497.50	\$105.88	\$4,391.62	0.70	\$3,074.13
2/2015	608	0	0	608	\$760.00	\$15.21	\$744.79	0.70	\$521.35
3/2015	604	0	0	604	\$755.00	\$15.11	\$739.89	0.70	\$517.92
4/2015	616	0	0	616	\$770.00	\$15.40	\$754.60	0.70	\$528.22
5/2015	621	0	0	621	\$776.25	\$3.70	\$772.55	0.70	\$540.79
6/2015	617	0	0	617	\$771.25	\$15.43	\$755.82	0.70	\$529.07
7/2014	621	0	0	621	\$776.25	\$15.53	\$760.72	0.70	\$532.50
7/2015	599	0	0	599	\$748.75	\$14.98	\$733.77	0.70	\$513.64

8/2014	650	0	0	650	\$812.50	\$16.26	\$796.24	0.70	\$557.37
8/2015	588	0	0	588	\$735.00	\$14.70	\$720.30	0.70	\$504.21
9/2014	630	0	0	630	\$787.50	\$15.75	\$771.75	0.70	\$540.23
9/2015	594	0	0	594	\$742.50	\$14.86	\$727.64	0.70	\$509.35
10/2014	618	0	0	618	\$772.50	\$2.68	\$769.82	0.70	\$538.87
10/2015	594	0	0	594	\$742.50	\$14.86	\$727.64	0.70	\$509.35
11/2014	616	0	0	616	\$770.00	\$15.41	\$754.59	0.70	\$528.21
11/2015	566	0	0	566	\$707.50	\$14.16	\$693.34	0.70	\$485.34
12/2014	613	0	0	613	\$766.25	\$15.33	\$750.92	0.70	\$525.64
12/2015	542	0	0	542	\$677.50	\$13.55	\$663.95	0.70	\$464.77

Entity Total: \$12,436.31

Total Amount: \$12,436.31

City of Sioux Falls, Lincoln (

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	6,228	17,584	121	23,933	\$29,916.25	\$649.18	\$29,267.07	0.70	\$20,486.95
5/2015	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
6/2015	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
7/2015	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
8/2015	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
9/2015	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
10/2015	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
11/2015	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
12/2015	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88

Entity Total:

Adjustment:

\$20,493.99

\$0.00

Adjustment:

\$0.00

\$3,413.04

Total Amount: \$20,493.99

Clark

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	1,645	2,335	2	3,982	\$4,977.50	\$101.73	\$4,875.77	0.70	\$3,413.04

Entity Total:

Adjustment: \$0.00

Clay

Olay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	1,941	7,016	47	9,004	\$11,255.00	\$236.34	\$11,018.66	0.70	\$7,713.06
							Entity Tota	al:	\$7,713.06
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,713.06
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	8,761	18,055	67	26,883	\$33,603.75	\$700.54	\$32,903.21	0.70	\$23,032.25
							Entity Tota	al:	\$23,032.25
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$23,032.25
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	1,473	481	4	1,958	\$2,447.50	\$50.83	\$2,396.67	0.70	\$1,677.67
							Entity Tota	al:	\$1,677.67
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,677.67
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	3,651	4,632	24	8,307	\$10,383.75	\$234.13	\$10,149.62	0.70	\$7,104.73
							Entity Tota	al:	\$7,104.73
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,104.73
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	6,660	13,110	156	19,926	\$24,907.50	\$517.58	\$24,389.92	0.70	\$17,072.94

							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$17,072.94
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	2,491	3,433	4	5,928	\$7,410.00	\$149.86	\$7,260.14	0.70	\$5,082.10
							Entity Tota	al:	\$5,082.10
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,082.10
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	2,246	2,745	5	4,996	\$6,245.00	\$138.41	\$6,106.59	0.70	\$4,274.61
							Entity Tota	al:	\$4,274.61
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,274.61
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	1,461	2,050	4	3,515	\$4,393.75	\$81.56	\$4,312.19	0.70	\$3,018.53
							Entity Tota	al:	\$3,018.53
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,018.53
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	1,509	2,688	7	4,204	\$5,255.00	\$105.23	\$5,149.77	0.70	\$3,604.84
							Entity Tota	al:	\$3,604.84
							Adjustmer	nt:	\$0.00

Fall River

Entity Total:

\$17,072.94

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	3,587	4,020	8	7,615	\$9,518.75	\$192.97	\$9,325.78	0.70	\$6,528.05
12/2015	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
							Entity Tota	al:	\$6,528.93
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,528.93
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	1,020	1,361	4	2,385	\$2,981.25	\$60.82	\$2,920.43	0.70	\$2,044.30
							Entity Tota	al:	\$2,044.30
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,044.30
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	2,829	5,074	132	8,035	\$10,043.75	\$227.04	\$9,816.71	0.70	\$6,871.70
							Entity Tota	al:	\$6,871.70
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,871.70
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	2,008	3,463	3	5,474	\$6,842.50	\$146.71	\$6,695.79	0.70	\$4,687.05
							Entity Tota	al:	\$4,687.05
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,687.05
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	1,097	1,349	5	2,451	\$3,063.75	\$61.30	\$3,002.45	0.70	\$2,101.72
							Entity Tota	al:	\$2,101.72
							Adjustmer	nt:	\$0.00

Total Amount:	\$2,101.72

Hamlin	
_	

Tidiiiiii									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	2,064	3,423	7	5,494	\$6,867.50	\$137.37	\$6,730.13	0.70	\$4,711.09
							Entity Tota	al:	\$4,711.09
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,711.09
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	1,363	2,547	10	3,920	\$4,900.00	\$98.37	\$4,801.63	0.70	\$3,361.14
							Entity Tota	al:	\$3,361.14
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,361.14
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	1,094	2,829	20	3,943	\$4,928.75	\$99.85	\$4,828.90	0.70	\$3,380.23
							Entity Tota	al:	\$3,380.23
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,380.23
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	759	786	1	1,546	\$1,932.50	\$48.39	\$1,884.11	0.70	\$1,318.88
							Entity Tota	al:	\$1,318.88
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,318.88
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	5,380	13,900	111	19,391	\$24,238.75	\$513.45	\$23,725.30	0.70	\$16,607.71

							Entity Tota	ıl:	\$16,607.71
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$16,607.71
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	3,468	4,787	8	8,263	\$10,328.75	\$206.55	\$10,122.20	0.70	\$7,085.54
							Entity Tota	al:	\$7,085.54
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$7,085.54
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	843	1,006	2	1,851	\$2,313.75	\$47.52	\$2,266.23	0.70	\$1,586.36
							Entity Tota	al:	\$1,586.36
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$1,586.36
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

Percent

0.70

Entity

0.70

Percent

\$1,323.95

\$1,323.95 \$0.00

\$1,323.95

Entity Amount

\$1,892.49

\$1,892.49

\$0.00 \$1,892.49

Lines

VOIP

Lines

0

0

1,544

Total Lines

2,207

\$1,930.00

Surcharge

\$2,758.75

\$38.65

Admin Fee

\$55.20

\$1,891.35

Net Surcharge

\$2,703.55

Entity Total:

Adjustment:

Entity Total:

Adjustment:

Total Amount:

Total Amount:

808

Wireless Lines

1,168

Jones

1/2016

Jerauld

1/2016

Reporting Period

736

Telecom Lines

1,039

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	587	637	3	1,227	\$1,533.75	\$30.70	\$1,503.05	0.70	\$1,052.14
							Entity Tota	al:	\$1,052.14
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$1,052.14
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	1,772	3,901	17	5,690	\$7,112.50	\$147.57	\$6,964.93	0.70	\$4,875.45
							Entity Tota	al:	\$4,875.45
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$4,875.45
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	3,246	9,024	24	12,294	\$15,367.50	\$320.00	\$15,047.50	0.70	\$10,533.25
							Entity Tota	al:	\$10,533.25
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$10,533.25
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	9,741	15,063	89	24,893	\$31,116.25	\$657.85	\$30,458.40	0.70	\$21,320.88
							Entity Tota	al:	\$21,320.88
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$21,320.88
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	5,464	20,418	236	26,118	\$32,647.50	\$714.07	\$31,933.43	0.70	\$22,353.40
10/2015	0	0	0	0	\$0.00	\$-0.01	\$0.01	0.70	\$0.01
11/2015	0	0	0	0	\$0.00	\$-0.01	\$0.01	0.70	\$0.01
							Entity Tota	al:	\$22,353.42

Adjustment: \$0.00

Total Amount: \$22,353.42

Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	1,407	1,781	1	3,189	\$3,986.25	\$86.08	\$3,900.17	0.70	\$2,730.12
							Entity Tota	al:	\$2,730.12
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,730.12
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	2,035	2,663	8	4,706	\$5,882.50	\$120.95	\$5,761.55	0.70	\$4,033.09
							Entity Tota	al:	\$4,033.09
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,033.09
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	2,727	4,086	8	6,821	\$8,526.25	\$170.60	\$8,355.65	0.70	\$5,848.96
							Entity Tota	al:	\$5,848.96
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,848.96
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	1,182	1,400	1	2,583	\$3,228.75	\$77.83	\$3,150.92	0.70	\$2,205.64
							Entity Tota	al:	\$2,205.64
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,205.64
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

1/2016	4,296	16,633	449	21,378	\$26,722.50	\$574.36	\$26,148.14	0.70	\$18,303.70
9/2015	0	0	10	10	\$12.50	\$0.00	\$12.50	0.70	\$8.75
10/2015	0	0	10	10	\$12.50	\$0.00	\$12.50	0.70	\$8.75
11/2015	0	0	10	10	\$12.50	\$0.00	\$12.50	0.70	\$8.75
12/2015	0	0	10	10	\$12.50	\$0.00	\$12.50	0.70	\$8.75
							Entity Tota	ıl:	\$18,338.70
							Adjustmer	ıt:	\$0.00
							Total Amo	unt:	\$18,338.70
ellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	630	589	0	1,219	\$1,523.75	\$30.51	\$1,493.24	0.70	\$1,045.27
							Entity Tota	ıl:	\$1,045.27
							Adjustmer	ıt:	\$0.00
							Total Amo	unt:	\$1,045.27
iner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	1,144	1,531	2	2,677	\$3,346.25	\$67.29	\$3,278.96	0.70	\$2,295.27
							Entity Tota	ıl:	\$2,295.27
							Adjustmer	ıt:	\$0.00
							Total Amo	unt:	\$2,295.27
innehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	49,885	138,104	1,394	189,383	\$236,728.75	\$4,956.70	\$231,772.05	0.70	\$162,240.44
2/2015	0	0	0	0	\$0.00	\$-0.01	\$0.01	0.70	\$0.01
3/2015	0	0	0	0	\$0.00	\$-0.01	\$0.01	0.70	\$0.01
7/2014	0	0	0	0	\$0.00	\$-0.05	\$0.05	0.70	\$0.04
9/2015	0	0	0	0	\$0.00	\$-0.01	\$0.01	0.70	\$0.01
11/2014	0	0	0	0	\$0.00	\$-0.01	\$0.01	0.70	\$0.01
	0	0	13	13	\$16.25	\$0.00	\$16.25	0.70	\$11.38
12/2015									
12/2015							Entity Tota	ıl:	\$162,251.90

woody

woody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	1,803	4,343	11	6,157	\$7,696.25	\$178.07	\$7,518.18	0.70	\$5,262.73
							Entity Tota	al:	\$5,262.73
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,262.73
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	30,477	68,963	459	99,899	\$124,873.75	\$2,580.23	\$122,293.52	0.70	\$85,605.46
3/2015	0	0	0	0	\$0.00	\$-0.01	\$0.01	0.70	\$0.01
5/2015	0	0	2	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
6/2015	0	0	2	2	\$2.50	\$-0.01	\$2.51	0.70	\$1.76
7/2015	0	0	2	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
8/2015	0	0	2	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
9/2015	0	0	2	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
10/2015	0	0	2	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
11/2014	0	0	0	0	\$0.00	\$-0.01	\$0.01	0.70	\$0.01
11/2015	0	0	2	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
12/2015	0	0	7	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
							Entity Tota	al:	\$85,623.87
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$85,623.87
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	1,901	2,386	6	4,293	\$5,366.25	\$117.42	\$5,248.83	0.70	\$3,674.18
							Entity Tota	al:	\$3,674.18
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,674.18
Potter									•
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

1/2016	1,439	1,694	4	3,137	\$3,921.25	\$78.44	\$3,842.81	0.70	\$2,689.97
							Entity Tota	l:	\$2,689.97
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$2,689.97
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	4,153	4,519	6	8,678	\$10,847.50	\$239.05	\$10,608.45	0.70	\$7,425.92
							Entity Tota	l:	\$7,425.92
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$7,425.92
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	1,012	1,748	0	2,760	\$3,450.00	\$69.02	\$3,380.98	0.70	\$2,366.69
							Entity Tota	l:	\$2,366.69
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$2,366.69
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	2,362	4,392	6	6,760	\$8,450.00	\$171.07	\$8,278.93	0.70	\$5,795.25
							Entity Tota	l:	\$5,795.25
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$5,795.25
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	847	2,154	12	3,013	\$3,766.25	\$77.34	\$3,688.91	0.70	\$2,582.24
							Entity Tota	l:	\$2,582.24
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$2,582.24
Sully									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	848	1,073	1	1,922	\$2,402.50	\$48.16	\$2,354.34	0.70	\$1,648.04
							Entity Total	al:	\$1,648.04
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,648.04
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	0	14	3	17	\$21.25	\$0.43	\$20.82	0.70	\$14.57
							Entity Tota	al:	\$14.57
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$14.57
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	2,784	3,715	7	6,506	\$8,132.50	\$163.47	\$7,969.03	0.70	\$5,578.32
							Entity Tota	al:	\$5,578.32
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$5,578.32
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2016	2,630	5,824	12	8,466	\$10,582.50	\$213.57	\$10,368.93	0.70	\$7,258.25
							Entity Tota	al:	\$7,258.25
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$7,258.25
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	-601	0	0	-601	\$-751.25	\$-15.03	\$-736.22	0.70	\$-515.35
1/2016	4,057	9,724	82	13,863	\$17,328.75	\$410.03	\$16,918.72	0.70	\$11,843.10
2/2015	-608	0	0	-608	\$-760.00	\$-15.20	\$-744.80	0.70	\$-521.36

3/2015	-604	0	0	-604	\$-755.00	\$-15.09	\$-739.91	0.70	\$-517.94
4/2015	-616	0	0	-616	\$-770.00	\$-15.40	\$-754.60	0.70	\$-528.22
5/2015	-621	0	0	-621	\$-776.25	\$-3.70	\$-772.55	0.70	\$-540.79
6/2015	-617	0	8	-609	\$-761.25	\$-15.42	\$-745.83	0.70	\$-522.08
7/2014	-621	0	0	-621	\$-776.25	\$-15.48	\$-760.77	0.70	\$-532.54
7/2015	-599	0	16	-583	\$-728.75	\$-14.98	\$-713.77	0.70	\$-499.64
8/2014	-650	0	0	-650	\$-812.50	\$-16.26	\$-796.24	0.70	\$-557.37
8/2015	-588	0	16	-572	\$-715.00	\$-14.70	\$-700.30	0.70	\$-490.21
9/2014	-630	0	0	-630	\$-787.50	\$-15.75	\$-771.75	0.70	\$-540.23
9/2015	-594	0	16	-578	\$-722.50	\$-14.85	\$-707.65	0.70	\$-495.36
10/2014	-618	0	0	-618	\$-772.50	\$-2.68	\$-769.82	0.70	\$-538.87
10/2015	-594	0	16	-578	\$-722.50	\$-14.85	\$-707.65	0.70	\$-495.36
11/2014	-616	0	0	-616	\$-770.00	\$-15.39	\$-754.61	0.70	\$-528.23
11/2015	-566	0	16	-550	\$-687.50	\$-14.15	\$-673.35	0.70	\$-471.35
12/2014	-613	0	0	-613	\$-766.25	\$-15.33	\$-750.92	0.70	\$-525.64
12/2015	-542	0	16	-526	\$-657.50	\$-13.55	\$-643.95	0.70	\$-450.77
							Entity Tota	ıl:	\$2,571.79
							-		
							Adjustmen		(\$2,571.79)
							_	ıt:	
Walworth							Adjustmen	ıt:	(\$2,571.79)
Walworth Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Adjustmen	ıt:	(\$2,571.79)
	Telecom Lines	Wireless Lines		Total Lines 5,968	Surcharge \$7,460.00	Admin Fee \$150.59	Adjustmen	nt: unt: Entity	(\$2,571.79) \$0.00
Reporting Period			Lines		_		Adjustmen Total Amo	Entity Percent 0.70	(\$2,571.79) \$0.00 Entity Amount
Reporting Period			Lines		_		Adjustmen Total Amor Net Surcharge \$7,309.41	Entity Percent 0.70	(\$2,571.79) \$0.00 Entity Amount \$5,116.59
Reporting Period			Lines		_		Adjustmen Total Amor Net Surcharge \$7,309.41 Entity Total	Entity Percent 0.70	(\$2,571.79) \$0.00 Entity Amount \$5,116.59 \$5,116.59
Reporting Period			Lines		_		Adjustmen Total Amore Net Surcharge \$7,309.41 Entity Total Adjustmen	Entity Percent 0.70	(\$2,571.79) \$0.00 Entity Amount \$5,116.59 \$5,116.59 \$0.00
Reporting Period			Lines		_		Adjustmen Total Amore Net Surcharge \$7,309.41 Entity Total Adjustmen	Entity Percent 0.70	(\$2,571.79) \$0.00 Entity Amount \$5,116.59 \$5,116.59 \$0.00
Reporting Period 1/2016 Yankton	2,461	3,498	Uines 9 VOIP	5,968	\$7,460.00	\$150.59	Adjustment Total Amon Net Surcharge \$7,309.41 Entity Total Adjustment Total Amon	Entity Percent 0.70 al: unt:	(\$2,571.79) \$0.00 Entity Amount \$5,116.59 \$5,116.59 \$0.00 \$5,116.59
Reporting Period 1/2016 Yankton Reporting Period	2,461 Telecom Lines	3,498 Wireless Lines	VOIP Lines	5,968 Total Lines	\$7,460.00 Surcharge	\$150.59	Adjustment Total Amore Net Surcharge \$7,309.41 Entity Total Adjustment Total Amore Net Surcharge	Entity Percent 0.70 al: tt: unt: Entity Percent 0.70	(\$2,571.79) \$0.00 Entity Amount \$5,116.59 \$5,116.59 \$0.00 \$5,116.59 Entity Amount
Reporting Period 1/2016 Yankton Reporting Period	2,461 Telecom Lines	3,498 Wireless Lines	VOIP Lines	5,968 Total Lines	\$7,460.00 Surcharge	\$150.59	Adjustment Total Amore Net Surcharge \$7,309.41 Entity Total Adjustment Total Amore Net Surcharge \$25,928.73	Entity Percent 0.70 al: tt: unt: Entity Percent 0.70	(\$2,571.79) \$0.00 Entity Amount \$5,116.59 \$5,116.59 \$0.00 \$5,116.59 Entity Amount \$18,150.11

Totals 257,658 544,015 4,483 806,156 \$1,007,695.00 \$21,006.96 \$986,688.04